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Sec. 2.2 MORE Applications Name AWM &(A’/w

Solve each problem by using calculus. Show all work!

DG —22. @[ 1. A pumpkin pie is dropped from a height of 75.0 feet™Sa

A a. Write the position, velocity and acceleration equations. Show the
/o * relationship with differentiation.

Sl = et +s
N (&)= -32&
ol -3

b. How long does it take for the pie to hit the ground?
\ s, 12
S 2.17Sec
b= .S 2, st

297 s ot

c. ‘With what speed does the pie hit the ground? (No, the answer is not
ft/sec.)

\ 2150 @265;3W ‘2

2 -—324 ﬁ A frozen turkey is shot straight upward from the ground with a speed of

S% 40.0fsec.
J %"Oﬁé a. Write the position, velocity and acceleration equations. Show the
NENe¥ell relationship with differentiation.

SRy ~llot*+yot
V) = =B 2k 4un
o-lB=-32
b. How long does it take for the turkey to reach its peak height?
V) =0 |
£ 129 ST

c. What is the peak height of the turkey?

Q1 - 4q.575 4%4@"),




Oz .,.;,r Em [53. A bowl of cranberry sauce is thrown downward from a height of 60.0 m,

* witha speed of 20.0 m/s.
\/D > 2o, OM4 a. Write the position, velocity and acceleration functions. Show the
go = b0 Om relationship with differentiation.
Sl)= - 492 2064460
N = ~9.8£20

b. How long does it take for the cranberry sauce to hit the ground?
S =0 T
. ) OOl Sec.
t= 2, Oloog s e

c. With what speed dogs it hit the ground?

Voo | ~ 39 7 MZ

Oz - GI )y 4. You are standing on the roof of a building, throwing stuffing balls upward )L
" mfé,zﬂom a height of 10.0 meters, with a speed of 15.0 m/s.
\V 5 RSy O a. Write the position, velocity and acceleration equations. Show the
-3 relationship with differentiation.

< *l0.om S(£Y= =G L2 4 5 tt10
VD -Gkt g
O = -9, 9

b. How long does it take for the stuffing ball to reach its peak height?

V&) =0 |
L [,520k se= U}g;\

c. What is the peak height of the stuffing balls?

S(153N= 20090 | 245

e



2)_ -4.% m A mincemeat pie is dropped from a height of 44.1 meters.

/o2 a. Write the position, ve]ocxty and acceleration equations. Show the
O = Om /5 relationship with differentiation.
Srphlm SRR 49t g4

V= ~9. 81
ﬁ«éﬁ) - “?&g

b. How long does it take for the pie to hit the g%ound?
Sy =0 |

c. With what speed does the pie hit the ground?

N(3e ) YZ‘%@W\%J

e .a..C}‘ v /6? A ham is shot straight upv“l;rd from the ground with a speed of 25.0m/sec.
&

a. Write the position, velocity and acceleration equations. Show the
/ 5= 2501/ <, relationship with differentiation.

)= ~9,
S o S(D= ~hGt2 +2.5¢ D= =7.®
- V)= G 8L 25
b. How long does it take for the ham to reach its peak height?
V) =

‘E’; 2&66\[0&@& ’

{;‘*Z\STS‘&Q::,J

¢. What is the peak height of the ham?
S(2s5708) = 3|, g5775%~

531,96+ |
RN
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7. A bowl of mashed potatoes is thrown downward from a height of 85.0 ft,
4= 372 %> with a speed of 10.0 ft/s.
== oS LR Write the position, velocity and acceleration functions. Show the
\/O O/ relationship with differentiation.

= \E:.‘-;—O—P‘/-d
8, = SUED> —[lo 42 —10E +&S™
V) s —B2E O
b. How long does it take for the bowl of mashed potatoes to hit the
ground? " e e
Sl =0 L=, ogmix
L= .05 seC ¢« . '

—

c. With what speed does the bowl hit the ground?

M(20i2s5= ¢ %32-%

L=—3 2@4‘8.1 You are _standing on the roof of a building, throwing popcorn balls upwarév
& from a height of 12.0 feet, with a speed of 24.0 ft/s.
P
\/0 < Zq.,o @’[5 a. Write the position, velocity and acceleration equations. Show the
SO = 2,08 relationship with differentiation.

SG)= =l L2+ U £+ 12
Niy= -32&+2¢
Alr)=-32
b. How long does it take for the popcorn ball to reach its peak height?

c. What is the peak height of the popcorn balls?

S o7 )z




